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S0.5x0.125 1C-S1 1C S1 2 30 3 S0.7 X0.175 B-S2 B s2 | 25 | 30 3 ‘Qy 9.
S0.5x0.125 1C-S2 1C s2 | 2 30 3 S0.7X0.175 B-S3 B s3 | 25 | 30 3 7%
S0.5x0.125 1C-S3 1C s3 | 2 30 3 S0.7x0.175 B-S4 B s4 | 25 | 30 3 -0
S0.5x0.125 B-S1 B S1 B 30 3 S0.8 x0.2 1c-s2 1C s2 | 3 30 3 £1
S0.5x0.125 B-S2 B s2 | 2 30 3 S0.8 x0.2 1c-s3 G s3 | 3 30 3 B >
S0.5x0.125 B-S3 B s3 | 2 30 3 S0.8 x0.2 1C-s4 1C s4 | 3 30 3 A
S0.6x0.15  1C-S1 1C S1 25 | 30 3 S0.8 X0.2 B-S2 B s2 | 3 30 3 Ll
S0.6x0.15  1C-S2 1C s2 | 25 | 30 3 S0.8 x0.2 B-S3 B s3 | 3 30 3
S0.6x0.15 1C-S3 1C s3 | 25 | 30 3 S0.8 x0.2 B-S4 B s4 | 3 30 3 =1
S0.6x0.15 B-S1 B S1 25 | 30 3 S0.9x0.225 1C-S2 1C s2 | 3 30 3 F5 72-3
S0.6x0.15  B-S2 B s2 | 25 | 30 3 S0.9x0.225 1C-S3 e s3 | 3 30 3 m
S0.6x0.15 B-S3 B S3 | 25 | 30 3 S0.9x0.225 1C-S4 1C s4 | 3 30 3 I& @
S0.7X0.175 1C-S2 1C s2 | 25 | 30 3 S0.9x0.225 B-S2 B s2 | 3 30 3 £a
S0.7x0.175 1C-S3 1C s3 25 | 30 3 S0.9x0.225 B-S3 B S3 3 30 3 B §
S0.7x0.175 1C-S4 1C s4 | 25 | 30 3 S0.9 x0.225 B-S4 B s4 | 3 30 3 ﬁg
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S0.5x0.125x50 1C-S1| 1C S1 2 50 3 S0.7 Xx0.175x50 B-S2 B s2 | 25 | 50 3
S0.5x0.125x50 1C6-S2| 1C s2 | 2 50 3 S0.7 Xx0.175x50 B-S3 B s3 | 25 | 50 3
S0.5x0.125x50 1C-S3| 1C s3 | 2 50 3 S0.7 Xx0.175 x50 B-S4 B s4 | 25 | 50 3
S0.5x0.125 x50 B-S1 B S1 2 50 3 s0.8x0.2 x50 1C6-S2| 1C = | © 50 3
S0.5 x0.125 x50 B-S2 B s2 | 2 50 3 s0.8x0.2 x50 1C-S3| 1C s3 | 3 50 3
S0.5 x0.125 x50 B-S3 B 53 | 2 50 3 S0.8x0.2 x50 1C-S4| 1C s4 | 3 50 3
S0.6x0.15 x50 1C-S1| 1C S1 25 | 50 3 s0.8x0.2 x50 B-S2 B s2 | 3 50 3
S0.6x0.15 x50 1C-S2| 1C s2 | 25 | 50 3 S0.8x0.2 x50 B-S3 B s3 | 3 50 3
S0.6x0.15 x50 1C-S3| 1C s3 | 25 | 50 3 S0.8x0.2 x50 B-S4 B s4 | 3 50 3
S0.6xX0.15 x50 B-S1 B S1 25 | 50 3 S0.9 x0.225x50 1C6-S2| 1C s2 | 3 50 3
S0.6 x0.15 x50 B-S2 B s2 | 25 | 50 3 50.9 x0.225x50 1C-S3| 1C 53 | 3 50 3
S0.6x0.15 x50 B-S3 B s3 | 25 | 50 3 S0.9 x0.225x50 1C-S4| 1C s4 | 3 50 3
S0.7 x0.175x50 1C6-S2| 1C s2 | 25 | 50 3 S0.9 x0.225 x50 B-S2 B s2 | 3 50 3
S0.7 x0.175X50 1C-S3| 1C s3 | 25 | 50 3 S0.9 x0.225 x50 B-S3 B s3 | 3 50 3
S0.7 Xx0.175x50 1C-S4| 1C s4 | 25 | 50 3 S0.9 x0.225 x50 B-S4 B s4 | 3 50 3
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= M1 x0.25 1C5 1C 6 ° 30 3 M1 x0.2 P5 p 6 S 30 3 M1.1x0.2 24 P 4 5 32 3 M1.2x0.2 :1 P L 5 32 3 =}
E g M1 x0.25 1C6 1c | 7 o 30 | 3 M1 x0.2 P6 B 7 > 30 | 3 M1.1x0.2 o5 P 5 5 | 32 | 3 M1.2x0.2 oo P = 5 | 32 | 3
= x0.25 1C7 8 = 3 x0.2 P7 8 > 3 M1.1x0.2 P 6 32 | 3 M1.2x0.2 P 3 32 | 3 I
M1 a 1C 5 30 M1 B 5 32 P6 5 P3 2 5 3
M1 x0.25 1C B 0 &R 3 M1 x02 P8 C 0 32 3 M1.1x0.2 = = 7 = 30 3 M1.2x0.2 = = = 30 =T
3% M1 x0.25 BO B 1 = 30 8 M1.1x0.25 1CO 1c 1 5 32 3 M1.1x0.2 Pg [3) 8 5 32 3 M1.2x0.2 o5 P 5 = 32 3 n 4
8F3 M1 _x0.25 BI B = 2 30 | 3 M1.1x0.25 1C1 1c | 2 > 32 | 3 M1.1x0.2 1c0o L2 Ty 5 | 382 | 3 M1.2x0.2 = P 6 5 | 8 | 3 57
E M1 x0.25 B2 B 3 S 30 3 M1.1x0.25 1C2 1C 3 = 32 3 M1.2x0.25 o1 1C 1 5 32 3 M1.2x0.2 = =) 7 5 32 = L
o E .25 B3 4 5 3 .25 1C3 4 5 3 .2x0.25 1 c 2 P 3 1.2x0.2 p 8 34 3 v
) M1 x0 B = 30 M1.1x0 1C E 32 M1 1c2 ! 5 3 M P8 7
e M1 _x0.25 B4 B S 30 | 3 M1.1x0.25 1C4 1C | 5 32 | 3 M1.2x0.25 1c3 c | 3 5 | 8 | 8 M1.2x0.2 1c1 1C : 7 384 | 8 b
S M1 _x0.25 BS B S 2 30 | 3 Lolallde=s) e 1C | 6 g 32 | 3 M1.2x0.25 1ca 1c | 4 5 | 3 | 3 M1.4x0.3 1c2 c L 2 7 | 34 | 3 -'|-
%ﬁ o) s B B 7 2 30 = M1.1x0.25 1C6 1c 7 2 32 3 M1.2x0.25 1c5 16 2 5 32 ! M1.4x0.3 1c3 1C S 7 34 3
5 M1 x0.25 B7 B 8 > 30 3 M1.1x0.25 1C7 c 8 S 32 3 M1.2x0.25 16 1c 5 5 32 S M1.4x0.3 % c 4 = 34 S
= M1 x0.25 B8 3C 0 2 30 3 M1.1x0.25 1C8 B 0 > 32 S M1.2x0.25 1c7 1C 7 5 32 E M1.4x0.3 15 1C S 7 34 S
= M1 x0.25 3CO 3c | 1 S 30 | 3 M1.1x0.25 BO B 1 > 32 | 3 M1.2x0.25 o8 1c | 8 5 | 32 | 3 M1.4x0.3 1c6 1C_| 6 7 | 34 | 3
S M1_x0.25 3C1 ac | 2 > 30 | 3 M1.1x0.25 B1 B 2 > 32 | 3 M1.2x0.25 0 z 0 5 | 32 | 3 M1.4x0.3 1c7 L 4 7 384 | 8
— M1 x0.25 3C2 3c 3 > 30 | 3 M1.1x0.25 B2 B 3 2 32 | 3 M1.2x0.25 B] B ! 5 2 | 3 M1.4x0.3 1c8 10 2 7 84 | 9
| 2 M1 x0.25 3C3 3¢ | 4 > 30 | 3 M1.1x0.25 B3 B 4 2 32 | 3 =l Ba B e 5 32 e M1.4x0.3 1c9 1C ° 7 34 | 3
Tz M1 x0.25 3C4 ac 5 S 30 3 M1.1x0.25 B4 B 5 5 32 3 M1.2x0.25 Bs B 3 s 32 3 M1.4x0.3 T B L > 34 3
4 5 M1 x0.25 3C5 3c 6 ° 30 3 M1.1x0.256 BS B 6 S 32 3 M1.2x0.25 B4 B 4 5 32 3 M1.4x0.3 = B 2 - 34 3
e M1_x0.25 3C6 3C 7 > 30 3 M1.1x0.25 B6 B 7 5 32 3 M1.2x0.25 Bs B 5 5 32 3 M1.4x0.3 Bs B 3 > 34 3
I-‘/ M1 x0.25 3C7 3C 8 S 30 3 M1.1x0.25 B7 B 8 s 32 3 M1.2x0.25 BS B 6 5 32 3 M1.4x0.3 B4 B 4 - 34 3
7 M1 x0.25 3C8 P 0 &) 30 3 M1.1x0.25 B8 3C 0 5 32 3 M1.2x0.25 B7 B 7 5 32 3 M1.4%x0.3 :5 B 5 2 34 3
lu\ M1 x0.25 PO P ! 2 30 | 3 M1.1x0.25 3C0 3c 1 2 32 | 3 M1.2x0.25 Be B = 5 | 82 | 3 M1.4x0.3 B6 B S 7 = e
T M1 x0.25 P1 ) 2 S 30 3 M1.1x0.25 3C1 3c 2 ° 32 3 M1.2x0.25 B 3C 0 5 32 3 M1.4x0.3 B Z = 34 3
M1 x0.25 P2 P 3 > 30 | 3 M1.1x0.25 3c2 3C 3 5 32 | 3 M1.2x0.25 3cl13 SC : 5 32 E M1.4x0.3 BZ B 8 7 s4 | 8
M1_x0.25 P3 P 4 2 30 3 M1.1x0.25 3C3 3C 4 5 32 3 M1.2x0.25 322 3C 2 5 32 3 M1.4x0.3 :9 £ 9 7 34 2
0.25 P4 5 5 3 x0.25 3Cc4 5 5 3 M1.2x0.25 3 3C 3 32 3 M1.4%x0.3 3C 1 34 3
M1 X P 5 30 M1.1 5 3C 5 32 3c3 5 3C1 > 7 3
x0.25 P5 6 3 x0.25 3C 8 3 M1.2x0.25 3c 4 EP 3 M1.4x0.3 3C 34
M1 P 5 30 M1.1 c6 3C 5 32 3c4 5 5 3 3c2 3 7 3
M1 x0.25 P6 = 7 30 | 3 M1.1x0.25 3 3c | 7 32 | 3 M1.2x0.25 o5 3c 5 | a2 M1.4x0.3 303 3c 7 | 34
x0.25 P7 8 5 3 x0.25 3C7 8 5 8 M1.2x0.25 3 3C 6 32 3 M1.4x0.3 3C 4 34 3
M1 P 5 30 M1.1 8 3C 5 32 3C6 2 5 3 3ca 5 7 3
M1 x0.25 P8 C 0 30 3 M1.1x0.25 3C P 0 32 < M1.2x0.25 c7 3C 5 32 MICSX0.9 3c5 20 7 =
x0.2 1C0 1 5 3 x0.25 PO 1 S 3 M1.2x0.25 3 3c 8 32 3 M1.4x0.3 3c 6 34 3
M1 1 1C 5 30 M1.1 1 [ 5 32 3c8 0 B 3 3C6 7 7 3
x0.2 1C 2 3 1x0.25 P 2 3 M1.2x0.25 3 32 M1.4X%0.3 3C 34
M1 > 1C 5 30 M1. > P 5 32 PO 1 5 3 3C7 ) 7 3
M1 _x02 1C 1cC | 3 30 | 3 M1.1x0.25 P P 3 32 | 3 M1.2x0.25 5 P 5 | 32 M1.4x0.3 acs SC 7 | 34
DA TS 1c | 4 2 30 | 3 M1.1x0.25 P3 P 4 2 32 | 3 M1.2x0.25 = P 2 5 | 32 | 3 M1.4x0.3 e 3 | 9 7 | 3 | 3
M1 _x02 1C4 1c | 5 > 30 | 3 M1.1x0.25 P4 P 5 2 2 | 3 M1.2x0.25 3 P 2 5 |32 | 3 M1.4x0.3 P P : 7 | 34 | 8
M1 x0.2 1C5 1C 6 2 30 3 M1.1x0.25 P5 P 6 > 32 3 M1.2x0.25 P4 P 4 5 32 3 M1.4%0.3 oo P 2 - 34 3
0.2 1C6 7 5 3 x0.25 P8 7 S 3 M1.2x0.25 P P 5 32 3 M1.4x0.3 P 3 34 3
M1 X 7 1C 5 30 M1.1 ) 5 32 P5 5 P3 2 7 3
M1 x0.2 1C 1C 8 30 3 M1.1x0.25 P7 P 8 32 3 M1.2x0.25 5 P 6 = 32 3 M1.4x0.3 oa P = 34
M1_x0.2 1C8 B 0 S 30 3 M1.1x0.25 P8 1C o S 32 3 M1.2x0.25 P7 P 7 5 32 3 M1.4x0.3 = P 5 = 34 3
M1 x0.2 BO B 1 ° 30 3 M1.1x0.2 1CO e : 5 2 3 M1.2x0.25 ze P 8 s 32 3 M1.4x0.3 oo P 6 > 34 3
M1 x0.2 Bl B e 2 30 | 3 M1.1x0.2 1C1 1c 2 - 32 | 3 M1.2x0.25 00 1c o 5 32 S M1.4x0.3 = P 7 > 34 | 8
M1 x0.2 B2 B 3 2 30 | 3 M1.1x0.2  1cC2 = 3 S 32 | 3 M1.2x0.2 o1 1c ! s 32 3 M1.4%0.3 o P 8 5 34 | 3
M1 _x02 B3 B 4 2 30 3 M1.1x0.2 1C3 € & 2 32 3 M1.2x0.2 1c2 1C 2 5 32 S MIESX0-3 po P 2
M1 _xo02 B4 B 5 2 30 | 3 M1.1x02 1C4 1C | 5 2 32 | 3 M1.2x0.2 S & | ¢ 5 | 32 | 3 M1.4x0.3
M1 x0.2 BS = 6 5 30 3 M1.1x0.2 1C5 1 6 5 35 3 M1.2x0.2 - 1C 4 5 32 3
nL ol e B U : 30 | 3 M1.1x0.2 103 1c | 7 : 32 | 3 M1.2x0.2 :cs 16 2
M1 x0.2 B; B 2 = 30 3 M1.1x0.2 :ge C 8 = 32 3 M1.2x0.2
M1 x0.2 B o 3c o s 30 3 M1.1x0.2 B g = 32 3
M1_x02 3C 3 | 1 30 | 3 M1.1x0.2 BO B ! 5 | 32 | 3
x0.2 _ 3C1 2 5 3 x0.2 BI 2
M1 ca 3C 5 30 M1.1 B2 B
M1_x0.2 303 3¢ | 3 5 | 30 | 3 M1.1x0.2
M1_x0.2 304 3¢ | 4 5 | 30 | 3
M1 x0.2 3 5 3C B
M1_x0.2 3C
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3C | 3aW i M1.7x0.35 B4 B 4 8 36 3 M1.8x0.35 1C7 C 7 8 36 3
P ai 2 M1.7x0.35 B5 B 5 8 36 3 M1.8x0.35 1C8 1c 8 8 36 3
SB% s M1.7x0.35 B6 B 6 8 36 3 M1.8x0.35 1C9 1C 9 8 36 3 B3
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i M1.4x02 1CO C 0 7 34 3 M1.6x0.35 3C7 3C 7 8 36 3 M1.7x0.35 3C1 3C 1 8 36 3 M1.8x0.35 B4 B 4 8 36 3 W
% > M1.4x02 1C1 1c 1 7 34 3 M1.6x0.35 3C8 3c 8 8 36 3 M1.7x0.35 3c2 3c 2 8 36 3 M1.8x0.35 B5 B 5 8 36 3 7%
w2 M1.4x02 1c2 C 2 7 34 3 M1.6x0.35 3C9 3c 9 8 36 3 M1.7x0.35 3C3 3C 3 8 36 3 M1.8x0.35 B6 B 6 8 36 3 o
3 g M1.4x02 1C3 C 3 7 34 3 M1.6x0.35 P1 P 1 8 36 3 M1.7x0.35 3Ca4 3C 4 8 36 3 M1.8x0.35 B7 B 7 8 36 3 g 3
>0 M1.4x02 1Ca C 4 7 34 3 M1.6x0.35 P2 P E 8 36 3 M1.7x0.35 3C5 3c 5 8 36 g M1.8x0.35 B8 B 8 8 36 g 03X
= ¥ M1.4x02 1C5 C 5 7 34 3 M1.6x0.35 P3 P 3 8 36 3 M1.7x0.35 3C6 3C 6 8 36 3 M1.8x0.35 B9 B 9 8 36 8 ¥ =
Jr M1.4x02 1C6 1C 6 7 34 3 M1.6x0.35 P4 P 4 8 36 3 M1.7x0.35 3C7 3C 7 8 36 3 M1.8x0.35 3C1 3c 1 8 36 3 rd
M1.4x02 1C7 1C 7 7 34 3 M1.6x0.35 P5 B 5 8 36 3 M1.7x0.35 3c8 3c 8 8 36 3 M1.8x0.35 3c2 3c 2 8 36 3
o5 M1.4x02 1c8 C 8 7 34 3 M1.6x0.35 PG P 6 8 36 3 M1.7x0.35 3C9 3C 9 8 36 3 M1.8x0.35 3C3 3c 3 8 36 3 =X
[S; M1.4x0.2 BO B 0 7 34 3 M1.6x0.35 P7 P 7 8 36 3 M1.7x0.35 P1 P 1 8 36 3 M1.8x0.35 3C4 3c 4 8 36 3 A =
& 9 M1.4x02 B1 B 1 7 34 3 M1.6x0.35 P8 P 8 8 36 3 M1.7x0.35 P2 P E 8 36 g M1.8x0.35 3C5 3c 5 8 36 3 a
@ I& M1.4x02 B2 B 2 7 34 3 M1.6x0.35 P9 P 9 8 36 3 M1.7x0.35 P3 P 3 8 36 3 M1.8x0.35 3C6 3c 6 8 36 8 I& =
o fF M1.4x0.2 B3 B 3 7 34 3 M1.6x0.2 1CO C 0 8 36 3 M1.7x0.35 Pa P 4 8 36 3 M1.8x0.35 3C7 3c 7 8 36 3 fFs
S M1.4x0.2 B4 B 4 7 34 3 M1.6x0.2 1C1 C 1 8 36 3 M1.7x0.35 P5 P 5 8 36 3 M1.8x0.35 3C8 3c 8 8 36 3 ES
%ﬁ M1.4x02 B5 B 5 7 34 3 M1.6x02 1c2 1c 2 8 36 3 M1.7x0.35 P6 P 6 8 36 3 M1.8x0.35 3C9 3c 9 8 36 3 ;E%
= M1.4x0.2 B6 B 6 7 34 3 M1.6x02 1C3 C 3 8 36 3 M1.7x0.35 P7 P 7 8 36 3 M1.8x0.35 P1 P 1 8 36 3 =
= M1.4x02 B7 B 7 7 34 3 M1.6x0.2 1Ca C 4 8 36 3 M1.7x0.35 P8 P 8 8 36 g M1.8x0.35 P2 P E 8 36 3 =
= M1.4x02 B8 B 8 7 34 3 M1.6x02 1C5 C 5 8 36 3 M1.7x0.35 P9 P 9 8 36 3 M1.8x0.35 P3 P 3 8 36 8 =
S M1.4x0.2 3CO 3c 0 7 34 3 M1.6x0.2 1C6 1c 6 8 36 3 M1.7x0.2 1C0 1C 0 8 36 3 M1.8x0.35 P4 P 4 8 36 3 =
5 M1.4x02 3C1 3c 1 7 34 3 M1.6x0.2 1C7 c 7 8 36 3 M1.7x0.2 1C1 c 1 8 36 3 M1.8x0.35 P5 P 5 8 36 3 .
| 5 M1.4x02 3c2 3c 2 7 34 3 M1.6x02 1c8 C 8 8 36 3 M1.7x02 1c2 1C 2 8 36 3 M1.8x0.35 P6 P 6 8 36 3 =1
; > M1.4x02 3C3 3c 3 7 34 3 M1.6x0.2 BO B 0 8 36 3 M1.7x02 1C3 1C 3 8 36 3 M1.8x0.35 P7 P 7 8 36 3 > ;)_I"
— —
M M1.4x0.2 3C4 3c 4 7 34 3 M1.6x0.2 B1 B 1 8 36 3 M1.7x0.2 1ca 1C 4 8 36 3 M1.8x0.35 P8 P 8 8 36 8 -
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73 M1.4x02 3C5 3C 5 7 34 3 M1.6x02 B2 B E 8 36 3 M1.7x0.2 1C5 C 5 8 36 3 M1.8x0.35 P9 P 9 8 36 8 o7
I‘( M1.4x0.2 3C6 3c 6 7 34 3 M1.6x0.2 B3 B 3 8 36 3 M1.7x0.2  1C6 1C 6 8 36 3 M1.8x0.2 1C0 1C 0 8 36 3 I:/
4 M1.4x0.2 3C7 3c 7 7 34 3 M1.6x0.2 B4 B 4 8 36 3 M1.7x0.2 1C7 c 7 8 36 3 M1.8x0.2 1C1 c 1 8 36 3 o4
||‘ M1.4x02 3C8 3C 8 7 34 3 M1.6x0.2 B5 B 5 8 36 3 M1.7x0.2 1c8 C 8 8 36 3 M1.8x0.2 1C2 1c 2 8 36 3 ||‘
T M1.4x02 PO P 0 7 34 3 M1.6x0.2 B6 B 6 8 36 3 M1.7x0.2 BO B 0 8 36 3 M1.8x02 1C3 1c 3 8 36 3 T
M1.4x02 P1 P 1 7 34 3 M1.6x0.2 B7 B 7 8 36 3 M1.7x0.2 BI1 B 1 8 36 3 M1.8x0.2 1C4 1C 4 8 36 g
M1.4x02 P2 P 2 7 34 3 M1.6x02 B8 B 8 8 36 3 M1.7x0.2 B2 B 2 8 36 3 M1.8x0.2 105 1C 5 8 36 8
M1.4x02 P3 P 3 7 34 3 M1.6x0.2 3CO 3c 0 8 36 3 M1.7x0.2 B3 B 3 8 36 3 M1.8x0.2 1C6 1C 6 8 36 3
M1.4x0.2 P4 P 4 7 34 3 M1.6x0.2 3C1 3c 1 8 36 3 M1.7x0.2 B4 B 4 8 36 3 M1.8x0.2 1C7 c 7 8 36 3
M1.4x02 P5 P 5 7 34 3 M1.6x02 3c2 3C 2 8 36 3 M1.7x0.2 B5 B 5 8 36 3 M1.8x0.2 1C8 1C 8 8 36 3
M1.4x02 PG P 6 7 34 3 M1.6x0.2 3C3 3c 3 8 36 3 M1.7x0.2 B6 B 6 8 36 3 M1.8x0.2 BO B 0 8 36 3
M1.4x0.2 P7 P 7 7 34 3 M1.6x0.2 3Ca 3c 4 8 36 g M1.7x0.2 B7 B 7 8 36 3 M1.8x0.2 BI1 B 1 8 36 g
M1.4x02 P8 P 8 7 34 3 M1.6x02 3C5 3C 5 8 36 3 M1.7x0.2 B8 B 8 8 36 3 M1.8x0.2 B2 B E 8 36 8
M1.6x0.35 1C1 1c 1 8 36 3 M1.6x0.2 3C6 3c 6 8 36 3 M1.7x0.2  3C0 3c 0 8 36 3 M1.8x0.2 B3 B 3 8 36 3
M1.6x0.35 1C2 c 2 8 36 3 M1.6x0.2 3C7 3c 7 8 36 3 M1.7x0.2  3C1 3c 1 8 36 3 M1.8x0.2 B4 B 4 8 36 3
M1.6x0.35 1C3 C 3 8 36 3 M1.6x02 3C8 3C 8 8 36 3 M1.7x0.2 3c2 3C 2 8 36 3 M1.8x0.2 B5 B 5 8 36 3
M1.6x0.35 1C4 1c 4 8 36 3 M1.6x0.2 PO P 0 8 36 3 M1.7x0.2 3C3 3c 3 8 36 3 M1.8x0.2 B6 B 6 8 36 3
M1.6x0.35 1C5 C 5 8 36 3 M1.6x02 P1 P 1 8 36 3 M1.7x0.2  3C4 3c 4 8 36 3 M1.8x02 B7 B 7 8 36 B8
M1.6x0.35 1C6 C 6 8 36 3 M1.6x02 P2 P 2 8 36 3 M1.7x0.2 3C5 3C 5 8 36 3 M1.8x0.2 B8 B 8 8 36 3
M1.6x0.35 1C7 1c 7 8 36 3 M1.6x0.2 P3 P 3 8 36 3 M1.7x0.2  3C6 3c 6 8 36 3 M1.8x0.2 3C0 3c 0 8 36 3
M1.6x0.35 1C8 1C 8 8 36 3 M1.6x0.2 P4 P 4 8 36 3 M1.7x0.2  3C7 3c 7 8 36 3 M1.8x0.2 3C1 3c 1 8 36 3
M1.6x0.35 1C9 C 9 8 36 3 M1.6x0.2 P5 P 5 8 36 3 M1.7x0.2 3c8 3C 8 8 36 3 M1.8x0.2 3c2 3c 2 8 36 3
M1.6x0.35 B1 B 1 8 36 3 M1.6x0.2 P6 P 6 8 36 3 M1.7x0.2 PO P 0 8 36 3 M1.8x0.2 3C3 3c 3 8 36 3
M1.6x0.35 B2 B 2 8 36 3 M1.6x02 P7 P 7 8 36 3 M1.7x0.2  P1 P 1 8 36 3 M1.8x0.2 3C4 3c 4 8 36 B8
M1.6x0.35 B3 B 3 8 36 3 M1.6x0.2 P8 P 8 8 36 3 M1.7x0.2 P2 P B 8 36 3 M1.8x0.2 3C5 3c 5 8 36 3
M1.6x0.35 B4 B 4 8 36 3 M1.7x0.35 1C1 1c 1 8 36 3 M1.7x0.2 P3 P 3 8 36 3 M1.8x0.2 3C6 3c 6 8 36 3
M1.6x0.35 BS5 B 5 8 36 3 M1.7x0.35 1c2 1c 2 8 36 3 M1.7x0.2 P4 P 4 8 36 3 M1.8x0.2 3C7 3c 7 8 36 3
M1.6x0.35 B6 B 6 8 36 3 M1.7x0.35 1C3 C 3 8 36 3 M1.7x0.2 P5 P 5 8 36 3 M1.8x0.2 3c8 3c 8 8 36 3
M1.6x0.35 B7 B 7 8 36 3 M1.7x0.35 1C4 1c 4 8 36 3 M1.7x0.2 P6 P 6 8 36 3 M1.8x0.2 PO P 0 8 36 3
M1.6x0.35 B8 B 8 8 36 g M1.7x0.35 1C5 1c 5 8 36 g M1.7x0.2 P7 P 7 8 36 3 M1.8x0.2 P1 P 1 8 36 8
M1.6x0.35 B9 B 9 8 36 3 M1.7x0.35 1C6 C 6 8 36 3 M1.7x0.2 P8 P 8 8 36 3 M1.8x0.2 P2 P B 8 36 3
M1.6x0.35 3C1 3c 1 8 36 3 M1.7x0.35 1C7 1c 7 8 36 3 M1.8x0.35 1C1 1C 1 8 36 3 M1.8x0.2 P3 P 3 8 36 3
M1.6x0.35 3C2 3c 2 8 36 3 M1.7x0.35 1C8 1c 8 8 36 3 M1.8x0.35 1C2 1C 2 8 36 3 M1.8x0.2 P4 P 4 8 36 3
M1.6x0.35 3C3 3C 3 8 36 3 M1.7x0.35 1C9 1C 9 8 36 3 M1.8x0.35 1C3 1C 3 8 36 3 M1.8x0.2 P5 P 5 8 36 3
M1.6x0.35 3C4 3c 4 8 36 3 M1.7x0.35 B1 B 1 8 36 3 M1.8x0.35 1C4 c 4 8 36 g M1.8x0.2 P6 P 6 8 36 g
M1.6x0.35 3C5 3c 5 8 36 g M1.7x0.35 B2 B 2 8 36 3 M1.8x0.35 1C5 c 5 8 36 3 M1.8x02 P7 P 7 8 36 8
M1.6x0.35 3C6 3C 6 8 36 3 M1.7x0.35 B3 B 3 8 36 3 M1.8x0.35 1C6 C 6 8 36 3 M1.8x02 P8 P 8 8 36 3




ITY2LYb-T i1 TAFLET-T ITY2LYb-T i1 TAFLET-T

#E :HSSE FHEYUE :TiCN 8 :HSSE FEAUE:TICN

Tap material Surface treatment Tap material Surface treatment

7Ly FOEEBRSOBEMEMLE

IT-TF-T BITERLLEL 127
114F-
s 1 5 02
= 1Cc 10 8-
O e : B | 2w B HO PvF BMEE | BN | BE | IR | 2B | @@ HU CvF BMEE | BN | BE | IR | 2B | A@
3C 31 g; M2.2x0.25 B4 B 4 9 42 3 M2.3x0.25 1C7 1C 7 9 42 3
P ayy 2 M2.2x0.25 B5 B 5 9 42 3 M2.3x0.25 1C8 C 8 9 | a2 3
SB% s M2.2x0.25 BB B 6 o |42 | 3 M2.3x0.25 1C9 1c | 9 o | 42 | 3 BX 3
g + R M2.2x0.25 B7 B 7 9 42 3 M2.3x0.25 BI1 B 1 9 | 42 3 E g
ST . y M2.2x0.25 B8 B 8 9 42 3 M2.3x0.25 B2 B E 9 | 42 3 [F=
yd iy e 5 ® yd i e 5 =
%g U EvF BIRE BT EE AR 2R R U EvF BIRE BT EE AR 2R ez M2.2x0.25 B9 B 9 9 a5 3 M2.3x0.25 B3 B 3 9 25 3 g%
i M2 x0.4 1C1 C 1 9 40 3 M2 x0.25 3C7 3C 7 9 40 3 M2.2x0.25 3C1 3C 1 9 42 3 M2.3x0.25 B4 B 4 9 | a2 3 W
:%7 M2 x0.4 1c2 C 2 9 40 3 M2 x0.25 3C8 3c 8 9 40 3 M2.2x0.25 3c2 3c 2 9 42 3 M2.3x0.25 B5 B 5 9 | a2 3 7%
o2 M2 x04 1C3 C 3 9 40 3 M2 x0.25 3C9 3C 9 9 40 3 M2.2x0.25 3C3 3C 3 9 42 3 M2.3x0.25 B6 B 6 9 | a2 3 2o
qg M2 x0.4 1G4 C 4 9 40 3 M2 x0.25 P1 P 1 9 40 3 M2.2x0.25 3C4 3C 4 9 42 3 M2.3x0.25 B7 B 7 9 | a2 3 gq
20 M2 x0.4 1C5 1C 5 9 40 3 M2 x0.25 P2 P 2 9 40 3 M2.2x0.25 3C5 3c 5 9 42 g M2.3x0.25 B8 B 8 9 | 42 3 03X
= |< M2 x0.4 1C6 C 6 9 40 3 M2 x0.25 P3 P 3 9 40 3 M2.2x0.25 3C6 3C 6 9 42 8 M2.3x0.25 B9 B 9 9 | a2 8 i{ﬁ
2 F M2 x0.4 1C7 1C 7 9 40 3 M2 x0.25 P4 P 4 9 40 3 M2.2x0.25 3C7 3C 7 9 42 3 M2.3x0.25 3C1 3C 1 9 | a2 3 ra
M2 x0.4 1C8 C 8 9 40 3 M2 x0.25 P5 B 5 9 40 3 M2.2x0.25 3C8 3c 8 9 42 3 M2.3x0.25 3c2 3c 2 9 | 42 3
wE M2 x04 1C9 C 9 9 40 3 M2 x0.25 P6 P 6 9 40 3 M2.2x0.25 3C9 3C 9 9 42 3 M2.3x0.25 3C3 3C 3 9 | a2 3 =X
[S; M2 x0.4 BI B 1 9 40 3 M2 x0.25 P7 P 7 9 40 3 M2.2x0.25 P1 P 1 9 42 3 M2.3x0.25 3C4 3C 4 9 | a2 3 Fﬂg
@Fa M2 x0.4 B2 B 2 9 40 3 M2 x0.25 P8 P 8 9 40 3 M2.2x0.25 P2 P E 9 42 g M2.3x0.25 3C5 3c 5 9 | a2 3 a
EE M2 x0.4 B3 B 3 9 40 3 M2 x0.25 P89 P 9 9 40 3 M2.2x0.25 P3 P 3 9 42 8 M2.3x0.25 3C6 3C 6 9 | a2 3 I& =
o fF M2 x0.4 B4 B 4 9 40 3 M2.2x0.45 1C1 C 1 9 42 3 M2.2x0.25 P4 P 4 9 42 3 M2.3x0.25 3C7 3C 7 9 | a2 3 fFs
S/ M2 x0.4 B5 B 5 9 40 3 M2.2x0.45 1C2 1C E 9 42 3 M2.2x0.25 P5 P 5 9 42 3 M2.3x0.25 3C8 3c 8 9 | a2 3 ES
%ﬁ M2 x0.4 B6 B 6 9 40 3 M2.2x0.45 1C3 C 3 9 42 3 M2.2x0.25 P6 P 6 9 42 3 M2.3x0.25 3C9 3C 9 9 | 42 3 z%%
o M2 x0.4 B7 B 7 9 40 3 M2.2x0.45 1C4 C 4 9 42 3 M2.2x0.25 P7 P 7 9 42 3 M2.3x0.25 P1 P 1 9 | a2 3 =
(7p] (9p]
= M2 x0.4 B8 B 8 9 40 3 M2.2x0.45 1C5 1C 5 9 42 3 M2.2x0.25 P8 P 8 9 42 g M2.3x0.25 P2 P E 9 | 42 3 ;T__g'
= M2 x0.4 B9 B 9 9 40 g M2.2x0.45 1C6 C 6 9 42 g M2.2x0.25 P9 P 9 9 42 8 M2.3x0.25 P3 P 3 9 | a2 3 =
=] M2 x0.4 3C1 3C 1 9 40 3 M2.2x0.45 1C7 1C 7 9 42 3 M2.3x0.4 1C1 1C 1 9 42 3 M2.3x0.25 P4 P 4 9 | a2 3 =
. M2 x0.4 3c2 3c 2 9 40 3 M2.2x0.45 1C8 1C 8 9 42 3 M2.3x0.4 1C2 1C 2 9 42 3 M2.3x0.25 P5 P 5 9 | 42 3 .
| 5 M2 x0.4 3C3 3C 3 9 40 3 M2.2x0.45 1C9 C 9 9 42 3 M2.3x0.4 1C3 C 3 9 42 3 M2.3x0.25 P6 P 6 9 | a2 3 =1
T> M2 x0.4 3C4 3C 4 9 40 3 M2.2x0.45 BI1 B 1 9 42 3 M2.3x0.4 1C4 C 4 9 42 3 M2.3x0.25 P7 P 7 9 | a2 3 =T
95 M2 x0.4 3C5 3C 5 9 40 3 M2.2x0.45 B2 B E 9 42 3 M2.3x0.4 1C5 C 5 9 42 3 M2.3x0.25 P8 P 8 9 | a2 3 5’5’
73 M2 x0.4 3C6 3C 6 9 40 g M2.2x0.45 B3 B g 9 42 B M2.3x0.4  1C6 C 6 9 42 8 M2.3x0.25 P9 P 9 9 | a2 3 57
I‘( M2 x0.4 3C7 3C 7 9 40 3 M2.2x0.45 B4 B 4 9 42 3 M2.3x0.4 1C7 1C 7 9 42 3 M2.5x0.45 1C1 1C 1 10 | 44 3 |:/
Y M2 x0.4 3C8 3C 8 9 40 3 M2.2x0.45 B5 B 5 9 42 3 M2.3x0.4 1C8 1C 8 9 42 3 M2.5x0.45 1C2 c 2 10 | 44 3 Y
||‘ M2 x0.4 3Co 3C 9 9 40 3 M2.2x0.45 B6 B 6 9 42 3 M2.3x0.4 1C9 C 9 9 42 3 M2.5x0.45 1C3 C 3 10 | 44 3 ||‘
T M2 x0.4 PI P 1 9 40 3 M2.2x0.45 B7 B 7 9 42 3 M2.3x0.4 BI1 B 1 9 42 3 M2.5x0.45 1C4 c 4 10 | 44 3 T
M2 x0.4 P2 P 2 9 40 3 M2.2x0.45 B8 B 8 9 42 3 M2.3x0.4 B2 B 2 9 42 3 M2.5x0.45 1C5 C 5 10 | 44 3
M2 x0.4 P3 P g 9 40 g M2.2x0.45 B9 B 9 9 42 g M2.3x0.4 B3 B 3 9 42 8 M2.5x0.45 1C6 C 6 10 | 44 3
M2 x0.4 P4 P 4 9 40 3 M2.2x0.45 3C1 3C 1 9 42 3 M2.3x0.4 B4 B 4 9 42 3 M2.5x0.45 1C7 C 7 10 | 44 3
M2 x0.4 P5 P 5 9 40 3 M2.2x0.45 3C2 3c 2 9 42 3 M2.3x0.4 B5 B 5 9 42 3 M2.5x0.45 1C8 1C 8 10 | 44 3
M2 x0.4 PG P 6 9 40 3 M2.2x0.45 3C3 3C 3 9 42 3 M2.3x0.4 B6 B 6 9 42 3 M2.5x0.45 1C9 C 9 10 | 44 3
M2 x0.4 P7 P 7 9 40 3 M2.2x0.45 3C4 3C 4 9 42 3 M2.3x0.4 B7 B 7 9 42 3 M2.5x0.45 BI1 B 1 10 | 44 3
M2 x0.4 P8 P 8 9 40 g M2.2x0.45 3C5 3C 5 9 42 g M2.3x0.4 B8 B 8 9 42 3 M2.5x0.45 B2 B 2 0 | 44 3
M2 x0.4 P9 P 9 9 40 g M2.2x0.45 3C6 3C 6 9 42 B M2.3x0.4 B9 B 9 9 42 8 M2.5x0.45 B3 B 3 10 | 44 3
M2 x0.25 1C1 1C 1 9 40 3 M2.2x0.45 3C7 3C 7 9 42 3 M2.3x0.4  3C1 3C 1 9 42 3 M2.5x0.45 B4 B 4 10 | 44 3
M2 x0.25 1c2 1C 2 9 40 3 M2.2x0.45 3C8 3C 8 9 42 3 M2.3x0.4 3c2 3c o 9 42 3 M2.5x0.45 B5 B 5 10 | 44 3
M2 x0.25 1C3 C 3 9 40 3 M2.2x0.45 3C9 3C 9 9 42 3 M2.3x0.4 3C3 3C 3 9 42 3 M2.5x0.45 B6 B 6 10 | 44 3
M2 x0.25 1C4 C 4 9 40 3 M2.2x0.45 P1 P 1 9 42 3 M2.3x0.4 3C4 3C 4 9 42 3 M2.5x0.45 B7 B 7 10 | 44 3
M2 x0.25 1C5 C 5 9 40 g M2.2x0.45 P2 P 2 9 42 g M2.3x0.4 3C5 3C 5 9 42 3 M2.5x0.45 B8 B 8 0 | 44 3
M2 x0.25 1C6 C 6 9 40 3 M2.2x0.45 P3 P 3 9 42 3 M2.3x0.4  3C6 3C 6 9 42 3 M2.5x0.45 B9 B 9 10 | 44 3
M2 x0.25 1C7 1C 7 9 40 3 M2.2x0.45 P4 P 4 9 42 3 M2.3x0.4 3C7 3c 7 9 42 3 M2.5x0.45 3C1 3C 1 10 | 44 3
M2 x0.25 1cC8 1C 8 9 40 3 M2.2x0.45 P5 P 5 9 42 3 M2.3x0.4 3C8 3C 8 9 42 3 M2.5x0.45 3C2 3c 2 10 | 44 3
M2 x0.25 1C9 C 9 9 40 3 M2.2x0.45 PG P 6 9 42 3 M2.3x0.4  3C9 3C 9 9 42 3 M2.5x0.45 3C3 3C 3 10 | 44 3
M2 x0.25 BI1 B 1 9 40 3 M2.2x0.45 P7 P 7 9 42 3 M2.3x0.4 P1 P 1 9 42 3 M2.5x0.45 3C4 3C 4 10 | 44 3
M2 x0.25 B2 B 2 9 40 g M2.2x0.45 P8 P 8 9 42 g M2.3x0.4 P2 P 2 9 42 3 M2.5x0.45 3C5 3C 5 0 | 44 B8
M2 x0.25 B3 B 3 9 40 3 M2.2x0.45 P9 P 9 9 42 3 M2.3x0.4 P3 P 3 9 42 3 M2.5x0.45 3C6 3C 6 10 | 44 3
M2 x0.25 B4 B 4 9 40 3 M2.2x0.25 1C1 1C 1 9 42 3 M2.3x0.4 P4 P 4 9 42 3 M2.5x0.45 3C7 3c 7 10 | 44 3
M2 x0.25 B5 B 5 9 40 3 M2.2x0.25 1C2 C 2 9 42 3 M2.3x0.4 P5 P 5 9 42 3 M2.5x0.45 3C8 3C 8 0 | 44 3
M2 x0.25 B6 B 6 9 40 3 M2.2x0.25 1C3 C 3 9 42 3 M2.3x0.4 P6 P 6 9 42 3 M2.5x0.45 3C9 3C 9 10 | 44 3
M2 x0.25 B7 B 7 9 40 3 M2.2x0.25 1C4 C 4 9 42 3 M2.3x0.4 P7 P 7 9 42 3 M2.5x0.45 P1 P 1 10 | 44 3
M2 x0.25 B8 B 8 9 40 g M2.2x0.25 1C5 C 5 9 42 g M2.3x0.4 P8 P 8 9 42 8 M2.5x0.45 P2 P 2 0 | 44 3
M2 x0.25 B9 B 9 9 40 3 M2.2x0.25 1C6 C 6 9 42 3 M2.3x0.4 P9 P 9 9 42 3 M2.5x0.45 P3 P 3 10 | 44 3
M2 x0.25 3C1 3C 1 9 40 3 M2.2x0.25 1C7 1C 7 9 42 3 M2.3x0.25 1C1 c 1 9 42 3 M2.5x0.45 P4 P 4 10 | 44 3
M2 x0.25 3c2 3C 2 9 40 3 M2.2x0.25 1C8 C 8 9 42 3 M2.3x0.25 1C2 C 2 9 42 3 M2.5x0.45 P5 P 5 0 | 44 3
M2 x0.25 3C3 3C 3 9 40 3 M2.2x0.25 1C9 1C 9 9 42 3 M2.3x0.25 1C3 1C 3 9 42 3 M2.5x0.45 P6 P 6 10 | 44 3
M2 x0.25 3C4 3c 4 9 40 3 M2.2x0.25 BI1 B 1 9 42 3 M2.3x0.25 1C4 1C 4 9 42 3 M2.5x0.45 P7 P 7 10 | 44 3
M2 x0.25 3C5 3C 5 9 40 g M2.2x0.25 B2 B 2 9 42 g M2.3x0.25 1C5 c 5 9 42 8 M2.5x0.45 P8 P 8 0 | 44 3
M2 x0.25 3C6 3C 6 9 40 3 M2.2x0.25 B3 B 3 9 42 3 M2.3x0.25 1C6 C 6 9 42 3 M2.5x0.45 P9 P 9 10 | 44 3
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M2.5x0 1 P 1 3 M2.6x0. 1 10 3 o 1c2 3 46 S M3 x 8 9 ! 4 7
35 B B 0 | 44 35 1c2 c 3 a4 x0.35 1c 10 0.35 B B 0 | 46
S8 M2.5x0 ! 3 2.6x0. 1 10 3 M3 1c3 4 3 M3 x 1 4 ~
=& B2 8 44 M 1C3 4 4 35 1C 46 5 B9 4 46
=) 5x0.35 B 10 0.35 1C 0 £ M3 xO0. 10 = 03 = 10 :
o Fa M2. B3 4 a 3 M2.6 % 4 5 1 3 5 1C4 5 46 M3 3Cc4 5 ) 4
S B 5 4 5 1C a4 x0.3 c 10 0.35 3C 4 T
P M2.5%x0 10 3 2.6x0.3 1C 10 3 M3 1c5 6 6 | 3 M3 x 5 10 4
SIE 35 B4 B 5 44 = 5 1C5 6 44 x0.35 1C 10 | 4 0.35 3C s | 6 <l6
@ M2.5x0. 10 3 2.6x0.3 1C 10 3 M3 1c6 7 3 M3 xO. 6 0 4
= B5 6 24 M 1C6 7 4 0.35 c 46 5 3C 7 46
U’T_j: M2.5x0.35 B 10 3 6x0.35 1C 10 4. M3 xO0. - ) 10 3 3 x0.3 3C 10 4
g B6 7 4 M2. c7 8 3 5 1C 46 M 3C7 8 )
e 35 B 4 35 1 G a4 x0.3 1C 10 0.35 3C o | 4
S[E M2.5%0 = 5 10 3 M2.6X0. 1 10 3 M3 1cs 9 5 3 M3 x cs 9 1 4
5 35 B B 44 - 35 1C8 9 44 x0.35 1C 10 4 0.35 3 3C 0 46
SR e B8 9 10 3 M2.6x0. o 1C 10 3 M3 1ce 10 46 | 3 M3 0. 3ce a ! 4
S x0.35 B 10 | a4 0.35_1cC B | 1 a4 3 x0.35 1c 10 3 x0.35 P 10 | 46
2 M2.5 BO 1 3 M2.6x0. 10 3 M 1c10 2 46 M3 P4 5 4
(2] 35 30 44 35 B1 2 44 x0.35 B 10 0.35 P 0 46
=S| M2.5x0 c1 ) 10 3 M2.6x0. B 10 3 M3 B2 3 6 3 M3 X 5 6 ! 4
= 35 3 3C 44 - 5 B2 3 44 x0.35 B 10 = 035 P P D
= M2.5x0. 10 3 6x0.3 B 10 M3 3 4 3 M3 x 10 4
= 3c2 3 44 M2. 3 P 3 35 B 46 P& 7 46
o 0.35 3C 0 35 B B 44 3 xO0. B 10 3 x0.35 P 10
=] M2.5 % c3 2 1 8 M2.6x0. 10 3 M B4 5 46 M3 7 8 4
35 3 =5 44 35 Ba 5 44 x0.35 B 10 0.35 P P 0 | 46
_ M2.5x0 ca 5 Ie 3 M2.6%0. B 10 g o B5 6 46 S M3 x 8 9 ! 4
| = x0.35 3 30 0 | 44 35 B5 6 a4 x0.35 B 10 0.35 P P 0 | 48
= m2.5 c5 6 L 3 M2.6x0. B 10 3 M3 B6 U 46 S M3 X P9 5 ] 4
T> x0.35 3 3cC 0 | 44 35 B6 B Z 44 x0.35 B 10 3 x0.35 C o | 48
M2.5 1 3 .6X0. 10 3 M3 7 8 M3 1 4
. 3cs 7 44 M2 B7 8 35 B B 46 1Cc5 6 48
Y x0.35 3C 10 0.35 B A 3 0. 10 3 5x0.6 16 10
m M2.5 3c7 8 4 3 M2.6x0. 9 10 3 M 5 B8 9 46 M3. 1C6 7 8 2
75 x0.35 3C 10 | 4 35 B8 B 44 3 x0.3 B 0 3 x0.6 1C 10 | 4
M2.5 cs 9 3 M2.6x0. 10 3 M B9 10 46 M3.5 c7 5 4
O 35 3 = a2 36 BO 1 a4 x0.35 B 10 06 1 B o | 48
M2.5x0. 9 ] 10 3 2.6x0. 3C 10 3 M3 B10 2 5 3 M3.5x 6 1 4
P 35 3C P 44 M 5 3Cl1 2 44 %0.35 3C 10 | 4 SEONNEE B 48
M2.5x0. = > 10 3 M2.6x0.3 > 3C 10 3 M3 3c2 3 46 3 Wil B6 7 10 8 4
~ x0.35 P 10 | 44 0.35 3C 3c 3 0 | 44 M3 x0.35 3C 10 3 5x0.6 B 10 | 4
i M2.5 P2 3 a4 | 3 M2.6x0. c3 4 |1 3 35 3C3 4 46 M3. B7 S 48 | 4
0.35 P 0 035 3 30 44 3 x0. 3C 10 3 5x0.6 P 10
T M2.5x P3 a 2 3 M2.6x0. a 10 3 M 3c4a 5 46 MS3. P5 6 4
35 P 0 4 35 3C c 5 44 *x0.35 3C 10 3 x0.6 P 0 48
M2.5x0 2 5 1 3 M2.6x0. 3 10 3 M3 3c5 6 46 M3.5 6 7 ! 5
35 P P 0 | 44 35 305 o 6 a4 x0.35 3c 10 06 P P 0 | 52
M2.5x0 = s 11 3 M2.60. 3 10 3 M3 3ce 7 46 | 3 M3.5x 7 6 | 1 5
35 P P 44 35 3C6 7 a4 x0.35 3C 10 06 P 1C 0 g2
M2.5 x0. & = 10 3 M2.6 % 0. 3C 10 3 M3 3c7 8 46 ! M3.5x ce 7 ! S
35 P o 5 35 3C7 c 8 44 x0.35 3c 10 07 1 1c o | 52
M2.5x0 7 8 1 3 M2.6x0. 3 10 3 o 3cs 9 46 | 3 M4 x c7 8 ! 5
35 P = 0 44 35 3C8 c 9 44 x0.35 3C 10 0.7 1 1C 0 52
M2.5x0 8 K 3 M2.6x0. 3 10 3 M3 ace 10 46 | 3 M4 x cs 6 | 1 5
.35 P p 0 44 35 3C9 1 44 %x0.35 3C 10 07 1 B 0 52
M2.5x0 9 1 ! 3 M2.6x0. = 10 3 M3 3ci10 2 46 S M4 x 6 7 ! °
.35 P 1C 0 44 35 P1 2 44 x0.35 P 10 07 B B 0 52
M2.5x0 1C1 2 1 3 M2.6x0. P 10 3 M3 P2 3 46 s M4 x B7 8 ! 5
.45 1c 0 | 44 35 P2 3 44 x0.35 P 10 3 0.7 B 0 | 52
M2.6X0 oz 5 1 3 M2.6X0. P 10 3 M3 P3 4 a6 M4 x 8 6 ! 5
45 C 0 | 44 35 P3 4 44 o P 10 07 B = o | s2
M2.6x0 o3 N 3 M2.6X0. P 10 3 M3 P4 5 46 | 3 M4 x 6 7 ! 5
45 1 T 0 | aa a5 Pa 5 a2 x0.35 P 10 x0.7 P P 0 | 82
M2.6%0 1ca 5 ! 3 M2.6x0. P 10 3 M3 P5 6 46 £ M4 P7 8 ! 55
25 o o | 42 35 P5 6 44 x0.35 P 10 0.7 P 0 | 60
M2.6x0 1C5 6 L 3 M2.6x0. P 10 3 M3 P6 7 46 | 3 Ma  x 8 6 ! 55
45 T o | a2 a5 Pe 7 44 x0.35 P 10 07 P 1c 0 | 6o
M2.6x0 1Cc6 7 L 3 M2.6x0. P 10 B M3 P7 8 46 3 M4 x 1Cc6 7 ! 55
a5 1c 0 44 35 P7 8 44 x0.35 P 10 3 x0.8 1C 0 60
M2.6x0 1C7 8 1 3 M2.6x0. B 10 3 M3 P8 S 46 MS 1c7 8 ! 55
25 T 0 | aa a5 Ps E 46 x0.35 P 10 08 1c 0 | 60
M2.6x0 1c8 9 ! 3 M2.6 0. P 10 3 M3 P9 10 46 | 4 M5 x cs 6 ! 55
45 1C 0 | 44 35 P9 C 2 46 Alebels P 10 08 1 2 0O | €0
M2.6x0 ce 1| 3 M2.6x0. 1 10 3 M3 P10 4 46 | 4 M5 x 6 7 | =i
.45 1 B 0 44 5 1Cc2 c 3 46 x0.35 1C 10 08 B B 0 B0
M2.6x0 1 > 1 3 M3 xO. 1 10 3 M3 1Cc4 5 46 4 M5 x 7 8 1
45 B - 0 | aa 5 1c3 c 4 26 x0.5 c 10 08 B B
M2.6x0 = 3 1 3 M3 xO. 1 10 3 M3 1c5 6 46 | 4 M5 x 8
45 B B a4 1c4 5 46 x0.5 1C 10 08 B
M2.6%0. 3 2 10 3 M3 x0.5 1C 10 3 M3 1c6 7 26 4 M5 X
45 B B 0 44 5 1C5 c 6 46 x0.5 1C 10
M2.6x0 2 s 1 3 M3 x0. 1 10 3 M3 107 8 46 4
45 B B 44 5 1C6 C 7 46 x0.5 1C 10
M2.6 % 0. 5 5 10 3 M3 xO. 1 10 3 M3 1c8 9
45 B B 44 5 1C7 8 46 x0.5 1C
M2.6X0. 8 - 10 3 M3 xO. 1C 10 3 M3 1C9
45 B B 0 44 5 1Cc8 c 9 46 x0.5
M2.6x0 > 8 1 3 M3 xO. 1 10 3 M3
.45 B B 0 [ 44 5 1c9 c | 10 46
M2.6x0 s 9 1 3 M3 x0. ) 1 10 3
45 B B 44 1C1 2 46
M2.6 X0.. o 1 10 3 M3 x0.5 B 10 3
.45 B 3C 0 44 5 B2 < 46
M2.6x0 cl > 1 3 M3 xO. B 10
45 3 3C 44 5 B3 4
M2.6x0. 5 10 3 3 xO0. B
M2.6x0.45 ggs 3C Z 10 23 3 ms x0.56 B4
.45 C
M2.6x0.4 CB 3C e 10
2.6xX045 3 3C
M2. 5 3C6
M2.6x0.4
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Tap material Surface treatment

7Ly hOBEES OBMERMIE

IT-TF-T AtELE ;f;
— . 1C 1 2 jﬁ
ot B 2 (um) 64
3C 3l :;
- _ P | 4h 2
%% Eﬁﬁ%g
=
Elj' HY EvF BfIEE Bt BE AR 2R R HU EvF BfIEE Bt BE A 2R R
36 M5 x0.8 P6 P 6 10 60 55 M8 x1 107 1C 7 18 70 6.2
>7 M5 x0.8 P7 P 7 10 60 55 M8 x1 1c8 1C 8 18 70 6.2
a,\ M5 x0.8 P8 P 8 10 60 55 M8 x1 1C9 1C 9 18 70 6.2
qg MB x1 1C7 c 7 10 62 6 M8 x1 B7 B 7 18 70 6.2
> D M6 x1 1c8 c 8 10 62 6 M8 x1 B8 B 8 18 70 6.2
5# M x1 1C9 e 9 10 62 6 M8 x1 B9 B 9 18 70 6.2
= & M x1 B7 B 7 10 62 6 M8 x1 P7 P 7 18 70 6.2
M6 x1 B8 B 8 10 62 6 M8 x1 P8 P 8 18 70 6.2
3@ MB x1 B9 B 9 10 62 6 M8 x1 P9 P 9 18 70 6.2
= MB x1 P7 P 7 10 62 6 M10x1.5 1C7 1C 7 19 75 7
EE MB x1 P8 P 8 10 62 6 MI10Ox1.5 1C8 1C 8 19 75 7
o M x1 P9 P 9 10 62 6 M10x1.5 1C9 1C 9 19 75 7
%T:E M6 x0.75 1C7 ¢ 7 10 62 6 M10x1.5 B7 B 7 19 75 7
BE M6 x0.75 1C8 1C 8 10 62 6 M10 x1.5 B8 B 8 19 75 7
%ﬁ M6 x0.75 1C9 1C 9 10 62 6 M10 x1.5 B9 B 9 19 75 7
2 M6 x0.75 B7 B 7 10 62 6 M10x1.5 P7 P 7 19 75 7
=3 M6 x0.75 B8 B 8 10 62 6 MI1Ox1.5 P8 p 8 19 75 7
E. M6 x0.75 B9 B 9 10 62 6 M10x1.5 P9 P 9 19 75 7
=] M6 x0.75 P7 P 7 10 62 6 M10 x1.25 1C7 1C 7 19 75 7
_ M6 x0.75 P8 p 8 10 62 6 M10 x1.25 1C8 1C 8 19 75 7
[ j M6 x0.75 P9 P 9 10 62 6 M10 x1.25 1C9 1C 9 19 75 7
T.,>; M7 x1 1C7 c 7 16 65 6.2 M10 x1.25 B7 B 7 19 75 7
I h M7 x1 1c8 1@ 8 16 65 6.2 M10 x1.25 B8 B 8 19 75 7
73'. M7 x1 1C9 1c 9 16 65 6.2 M10 x1.25 B9 B 9 19 75 7
L M7 x1 B7 B 7 16 65 6.2 M10 x1.25 P7 P 7 19 75 7
b4 M7 x1 B8 8 16 65 6.2 M10 x1.25 P8 p 8 19 75 7
~ M7 x1 B9 B 9 16 65 6.2 M10 x1.25 P9 P 9 19 75 7
-'|- M7 x1 P7 P 7 16 65 6.2 M10 x1 107 1C 7 19 75 7
M7 x1 P8 P 8 16 65 6.2 M10 x 1 1c8 1C 8 19 75 7
M7 x1 P9 ) 9 16 65 6.2 M10 x1 1Cc9 1c 9 19 75 7
M8 x1.25 1C7 1C 7 18 70 6.2 M10 x1 B7 B 7 19 75 7
M8 x1.25 1C8 1C 8 18 70 6.2 M10 x1 B8 B 8 19 75 7
M8 x1.25 1C9 1C 9 18 70 6.2 M10 x1 B9 B 9 19 75 7
M8 x1.25 B7 B 7 18 70 6.2 M10 x1 P7 P 7 19 75 7
M8 x1.25 B8 B 8 18 70 6.2 M10 x 1 P8 P 8 19 75 7
M8 x1.25 B9 B 9 18 70 6.2 M10 x1 P9 P 9 19 75 7
M8 x1.25 P7 P 7 18 70 6.2
M8 x1.25 P8 P 8 18 70 6.2
M8 x1.25 P9 P 9 18 70 6.2




